
 �CAUTION!  After installing, make sure the unit is level.

4201 Lien Rd Madison, WI 53704 • TOLL-FREE 1-800-533-7533 • www.thermastor.com • sales@thermastor.com
TS-513  1/13

Tools Required: Drill, 5/32" Drill Bit, Philips Screwdriver, Rachet, Tape Measure, Level

Hang Kit
Part No. 4029908

Step 1: Attach the J bolts to the brackets as shown.

OVER

Step 2: Measure the distance needed between each strap and the height needed from the bottom of the floor joist to 
ensure the unit is level.

Parts Included:
A

B

DC

G
F

A.	 Bracket Assembly (2)
B.	 Hanging Strap (4)
C.	 Lag Bolt, #1/4-10 x 1-1/2" (4)
D.	 Washer, 5/16" (12)
E.	 Washer, 1/4" (4)
F.	 Hex Head Screw, #5/16-18 x 1" (4)
G.	 Nut, 3/8-16" (4)
H.	 Lock Nut, 3/8-16" (4)
I.	 J-Bolt, 3/8-16 x 7" (4)

E

H

I

Note: Your unit 
may look different.

 
STEP 1 

 

 

J- BOLT 

WASHER

LOCK 
NUT 

NUT

STEP 2 

Hang Kit Assembly

4201 Lien Rd Madison, WI 53704 • TOLL-FREE 1-800-533-7533 • www.thermastor.com • sales@thermastor.com

Install bracket assembly using phillips screws 
provided. Install one bracket at each end of the 
unit as shown below.

Install each of the four J-bolts, nuts, washers (x2), and 
locking nuts onto the bracket assembly as shown.

P/N 4029908

PHILLIPS SCREWS 



TS-513  1/13
4201 Lien Rd Madison, WI 53704 • TOLL-FREE 1-800-533-7533 • www.thermastor.com • sales@thermastor.com

Step 5: Position the unit to hang.

Step 6: Lift the unit into place. Two people may 
be needed for ease of install.

Step 7: Position unit into place and add the (4) Hex 
Head screws and the (4) 5/16" washers to secure the 
unit to the hang kit.

Step 8: Make sure the unit is level.

Step 4: Install the 
brackets using the 
J bolts to hook into 
the straps.

Step 3: Install the (4) hanging straps from the floor joists 
using lag bolts and 1/4" washers. Note: Use a 5/32" drill bit 
to pre-drill holes before installing lag bolts.

NOTE: Use a 3/16 drill bit to pre-drill holes before inserting lag bolts.


